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TThhiiss  eeddiittiioonn  iiss  iinntteennddeedd  ffoorr  uussee  oouuttssiiddee  ooff  tthhee  UU..SS..  oonnllyy,,  wwiitthh  ccoonntteenntt  tthhaatt  mmaayy  bbee  ddiiffffeerreenntt  ffrroomm  tthhee  UU..SS..  EEddiittiioonn..  TThhiiss  mmaayy  nnoott  bbee  rreessoolldd,,  

ccooppiieedd,,  oorr  ddiissttrriibbuutteedd  wwiitthhoouutt  tthhee  pprriioorr  ccoonnsseenntt  ooff  tthhee  ppuubblliisshheerr.. 

Prob. 10–2A 

Depreciation Expense 
  a. Straight- b. Units-of- c. Double- 
  Line Production Declining-Balance 
 Year Method Method Method 
 

 2009 $ 86,000 $129,000 $190,000 
 2010 86,000 107,500 95,000 
 2011 86,000 60,200 47,500 
 2012  86,000  47,300  11,500* 
 Total $344,000  $344,000 $344,000 
 

 Calculations: 
 

 Straight-line method: 
 

  ($380,000 – $36,000)/4 = $86,000 each year 
 

 Units-of-production method: 
 

  ($380,000 – $36,000)/8,000 hours = $43 per hour 
 

  2009: 3,000 hours @ $43 = $129,000 
  2010: 2,500 hours @ $43 = $107,500 
  2011: 1,400 hours @ $43 = $60,200 
  2012: 1,100 hours @ $43 = $47,300 
 

 Double-declining-balance method: 
 

  2009: $380,000 × 50% = $190,000 
  2010: ($380,000 – $190,000) × 50% = $95,000 
  2011: ($380,000 – $190,000 – $95,000) × 50% = $47,500 
  2012: ($380,000 – $190,000 – $95,000 – $47,500 – $36,000*) = $11,500 
 

 *Book value should not be reduced below the residu al value of $36,000. 


